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Solve each system by graphl}‘lg. e There are 3 me +hods O'F' solving systems oF 3’2CI
Recall: Y=5, For example, 1s . fables ) -
a hoti 20mal  |ine ll'nmr' e@vativhs (lﬂ ‘l’wo Ve iable .
3) x=—4 —> x=a ¥ always verHeal ) Qeaphing Mathod
3 -3L

Mm="55 Y-int:-d D ub st tulkron Method
@ Elimiaatvon M et-hod

Ef,.\(_ln WIQ+|~0& S US-&FU[ J,\:Fendf‘n:] DN e 'Fr’o_b!{m_
T almos+ always use He eliminatron me +hod.

> ¢ Nso  when salvi ng Sl.jskmﬁ You will always get
1~ one of tlhese results: .

o |\ <olution - excmple (-1.;5)

Q) Tofinikly mony selubions
> No selvkion (¢ emety set)
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Solve each system by substitution.

e Since one of +he equations 1s selved 'ﬁor o
5) 10x+2) =18 Voviable | T an” subskitue the(expression) info

y: +he other eqQuetion,

lox + a(-sx+q) =18

f?é( —ID/Q +13 = IR

19 =19
€L
TRVE

Twf. Mmany $olutons

e
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Solve each system by elimination.

Ri‘n\alluwo;j[ o Eur +he eliminabion mehod , Fia goal s to choose
7) /erGyl?’ the easies] vertable Fu eliminate (2era ovt). I“ZH"”
x—4y=-23 Can+ do i+ r‘;'jh-f “wWOY , you mus multiply one or
2y=-b both equabioms Ly o 4 Fhat will do the frick. The next
2 & 2 oxamples will demonsdrele Hhis Conte pt.
(=3

-Ix + 6y =17

-+ b (-3)=1F Sx=35 <-§1 '3) @

=X 18 =1 a5
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Solve each system by elimination.

9) Sx+4y==6 Hﬁr-ﬁ, most multiply 'ﬂ.e_nl'fr? 9.@.'77& 4o eliminate X or Y.
10x - 8y =-30

_ - — X H3Ny =1
CQ( §x +4vy (9) s l{}(._,

[OX- 9y= =30

No seludion fﬁ @
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11) 2x -5y =30
—Tx+6y=10

g(-?u: + Ly

4 (3-5(-—-.‘.5'7 = 30)

Solve each system by elimination.

H‘f-@., mulb bobh eas. L chose 4o elimrmabe Hae "y vervable.

2% — 3¢y =180

10) - -35%x+Joy = SO
—2% x = 230
-2 =23

Ge=oD  Conyov fndy? (@




